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yield_cav4bQ rms vs run
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yield_cav4dQ _rms vs run
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yield_bpmOi01WS_mean vs run
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yield_bpmOiO1WS _rms vs run

X2/ ndf 2.261e+04 / 78
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yield_bpm0i01laWS_mean vs run
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yield_bpm0i01aWS_rms vs run
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yield_bpmOIO1WS rms vs run
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yield_bpmOI0O2WS_mean vs run
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yield _bpmOIO2WS _rms vs run
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yield_bpmOI0O4WS_mean vs run
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yield _bpmOIO4WS _rms vs run

X2/ ndf 3.627e+04 /78
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yield_bpmOIO7WS_mean vs run
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yield_bpmOIO7WS_rms vs run

X?/ ndf 4.204e+04 /78
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yield_bpmOIO8BWS_mean vs run
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yield _bpmOIO8BWS rms vs run
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yield_bpmOIO9WS_mean vs run
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yield _bpmOIO9WS rms vs run

X2/ ndf 3.763e+04 / 78
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yield_bpmOrO3WS_mean vs run
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yield_bpmOrO5WS_rms vs run

X2/ ndf 2.108e+04 /78
pO 325.9 + 0.2627
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yield _bpmOiO2WS_rms vs run

X2/ ndf 2.984e+04 /78

E PO 180.8 £ 0.1461
2500 —
2000 f—
1500 f—
1000 f—
500 f—

ON oxtno NN OXILRO NO N O TR Leo T o aorN oo O OThO TheD Oh <tNaD RO aexitd @ OO

T



139.5F

139

138.5

138

137.5

137

136.5

136 =

200 -

100 ==+

-100

=200

-300

=400 =

yield_bpm0i02aWS_mean vs run

3
*x10 X2 / ndf 2.101e+06 / 78
po 1.391e+05 + 0.222

TN oRRO @th@‘l\lm*&a&ruﬂ:"m@" CON X0 SH SO “heD S m“w"mmmcn‘o

FERERsEURiasENaau

pull

:2{Entries
Mean
‘Std Dev

79
-2094
2124

0.8

0.6

0.4

0.2

pulllD

Entries

- Mean

Std Dev

79

0

€ 6 4 2 0 2 4 &

8




3000

2500

2000

1500

1000

500

yield_bpm0i02aWS_rms vs run

X2/ ndf 4.411e+04 /78

po 193.3 + 0.157

ON oxtno NN OXILRO NO N O TR Leo T o aorN oo O OThO TheD Oh <tNaD RO aexitd @ OO

PECEEaENERESERE e ans



yield_bpmOiO5WS_mean vs run
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yield_bpmOi07WS_mean vs run
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